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(COD) _ _ (Ef mg/L)

BREHBTCTIETHER & & £ 5 £&| BT BE ERKR (FE)

K B & | R 19 20 21 22 23

2 & Zz & i 8 m % AN 349 2.2 3.4 3.0 3.4 33
B\ B # % AN i349 2.2 3.2 2.7 2.5 2.8

E B Z Q| v ¥ 3 B #h %] AA 349 1.9 2.7 2.2 2.7 2.7
B Lk B B ot %] AA 349 2.4 2.9 2.6 2.8 2.9

= 2  BL kR M x| AQ0 FB51 2.1 2.5 1.6 2.1 2.0
E & i % AO HE51 1.9 31 2.3 2.4 2.4

W & &% @ N 5k A A B 51 3.2 45 3.8 3.8 42
h & B B HE51 3.2 4.4 44 3.7 3.9
R %| B/ Ba51 3.3 40 3.8 3.6 36

= ¥ EE ® Z & A4 351 1.8 2.6 1.7 1.9 2.1
B R 1B A AA Bg51 1.7 2.0 1.3 1.9 22
B 1% ] A4 351 1.4 2.3 1.0 1.8 1.7

W B oE ORM % A A~q Ba51 1.2 1.9 1.2 1.8 2.0
A £ E E 4 A4 51 13 2.5 1.3 1.9 1.9

A £ E BB =] I AD FB51 2.7 3.1 3.0 31 35
5 B ] AD iE51 3.2 3.7 35 3.3 3.8

5 T CODh B KERECT.

2 #EENTIE, BEEECEALTLELLEDTT,

3 KEBDRFEREDIEL. FKEEADIRTORFERERICEVTHEE L TWVDIHE,

4 ?E‘E"‘E’*“O)/r AORGNORABIFIUTDOESY TT,

KBEREREE R RICE VD TESITER

ERELTLET

4 IEFEFEROA . ORVNOHRBEUTOESY TY,
A KBEEEEERRICEBVNTESLITER
0 KEBEREEREA LS L TS5 FLURN TR RAEOH(ZER
KEBEMEERANSEEL TS FEB A S M TR RMELNMIEN

VAR

o e R e T R
NG OKEEERE TR R A SRR E LT 5 E £ 5 SR Tl RATE O R

(&=EF) _ (B mg/L)

BEHCLOE B E & & & B | Bx ERRE BE)

7K 15 % faE FE 19 20 21 22 23

gEE8ZT (7)) b 2 h % 0.48 0.34 0.32 0.38 0.36
i % #h 5% o4 7 0.77 0.36 0.28 0.38 0.34
b ) 0.63 0.35 0.30 0.38 0.35

EEZT(4))% > X 3 & % 0.62 0.37 0.30 0.25 0.34
B Ok B O ot % o4 7 0. 51 0. 31 0.37 0.32 0.35
FE ) 0.57 0.34 0.34 0.29 0.35

=) p==1 b Al R i 5% 0.21 0.22 0.15 0.26 0.16
5 % #h 5 o4 7 0.35 0.28 0.23 0.48 0.25
b ) 0.28 0.25 0.19 0.37 0.21

Ay 23 BE B N K OA A 0.58 0.50 0.44 0.62 0.50
h B &R o/ 7 0.43 0.38 0.41 0.50 0. 46
iy R #h 5% 0.47 0.36 0.35 0.47 0.41
b ) 0.49 0. 41 0.40 0.53 0. 46

A E K E|E a &R 0. 41 0.34 0.29 0.35 0.35
& 5 g oo | F7 [ 048 | 0.4 030 | 0.47 | 0.48
E 2 0.45_| 0.38 030 | 041 | 04

() (B me/L)

BHHCLOE B & & m & Bx | &= ERRE (BE)

7K b3 % R EE 19 20 21 22 23

ZEEZ (7)) b 2 i % 0.014 0.018 0.015 0.022 0.019
i 1% h 5% o4 7 0.023 0.016 0.014 0.019 0.020
FE ) 0.019 0.017 0.015 0.021 0.020

BEEIZT(A4))% v X3 & % 0.013 0.015 0.012 0.012 0.012
B Ok B B o % o4 7 0.015 0.010 0.012 0.014 0.014
I ] 0.014 0.013 0.012 0.013 0.013

= =3 EliT R ih 5 0.010 0.010 0. 008 0.009 0.011
B 1% h 5% o4 E7 0.009 0.013 0.013 0.018 0.015
o 5 0.010 0.012 0.011 0.014 0.013

ey =3 EE A N R OA =B 0.026 0.035 0.032 0.047 0. 031
th &%= &R I w7 0.019 0.032 0.024 0.031 0.025
& R h 5% 0.025 0.028 0.022 0.031 0. 041
o 5 0.023 0.032 0.026 0.036 0.032

A = E E|lE a &R 0.019 0.028 0.017 0.021 0.023
iz B R oA 7 0.026 0.032 0.021 0.036 0.034
S - _ ) 0.023 0.030 0.019 0.029 0.029
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